Solution of ECE 315 Test 9 FO7

Find the numerical values of the constants in each case.

1. 3cos(24nt) > A[5(f - T,) +5(f +1,) ] A= ,f, =

3cos(24nt)«—(3/2)[ 5(f -12)+5(f +12)]

2. 4ui(2(t-1))«F—Asnc’(bf )& A= , b= , c=

41ri(2(t - 1)) «F—2sinc? (f / 2) "

3. Srect(3t) * 2rect(t / 2) < Asinc(bf )sinc(cf )
A= , b= , c=
5rect(3t) * 2rect(t / 2)«——(20/ 3)sinc( f / 3)sinc(2f)

4. Atri(bt)«F— 7sinc® (4o) A= , b=
Atri(bt)«F— 7sinc?(4(2r f)) = 7sinc? (8 f)
(7/8m)tri(t/ 87) = 0.278tri (0.0398t ) «—— 7sinc’ (8 )

5. 3sinc(10t) * sinc(4t )« Arect (bf ) A= , b=
3sinc(10t) #sinc(4t)«—=—(3/ 40) rect( f /10)rect(f / 4) = (3/40)rect(f / 4)




Solution of ECE 315 Test 9 FO7

Find the numerical values of the constants in each case.

1. 9cos(44nt)eE—A[S(f - f,)+5(f +1,)] A= , fo =

9cos(44nt)«=—(9/2)[5(f —22)+5(f +22)]

2. 8ti(6(t-3))«——Asnc?(bf)e* A= , b= , c=

81ri(6(t - 3))—s(4/ 3)sinc2(f /6)e

3. 20rect (2t) * 5rect (t / 4) <« Asinc(bf )sinc(cf )
A= , b= e
20rect (2t) * 5rect (t / 4)«——200sinc( f / 2)sinc(4f)

4. Atri(bt)«— 3sinc’ (9w) A= , b=
Atri(bt)«— 3sinc?(9(27 f)) = 3sinc? (187 )
(3/187)tri(t /18x) = 0.0531tri (0.0177t) «—— 3sinc® (187 )

5. 5sinc(4t) *sinc(3t A= , b=
5sinc(4t) = sinc(3t)«——(5/12)rect(f / 4)rect(f /3) =(5/12)rect(f /3)
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Solution of ECE 315 Test 9 FO7

Find the numerical values of the constants in each case.

1

11cos(82nt) " A[8(f - f,) +8(f +f,) ] A= L fo =

11cos(82nt)«——(11/2)[ §(f - 41) +5(f +41)]

13tri(7(t + 1))« Asinc? (bf ) &' A= , b= , c=

13tri(7(t +1))«-=—(13/ 7)sinc?(f / 7) &'

6rect(2t) +12rect(t / 8)«——— Asinc(bf )sinc(cf )
A= , b= , C=
6rect(2t) #12rect(t / 8)«——288sinc( f / 2)sinc(8f)

Atri(bt)«F—15sinc® (3w) A= , b=
Atri(bt) ¢« 15sinc?(3(2 f)) = 15sinc? (6x )
(15/6r)tri(t / 67) = 0.7961ri (0.0531t ) «——15sinc* (67 f )

4sinc(3t) * sinc(8t) «——s Arect (bf ) A , b=
4sinc(3t) * sinc(8t)«——(1/6)rect(f / 3)rect(f /8)=(1/6)rect(f /3




